EARAROBEEIERT — 2 N— IBISH —F

20145F9A6H (+) 6mKRIA

2R [oeR et i E EEEE N
[AE£] 1% :120,000 8  2#&:24,000 M  33%&:12,000 M  43%&:9,000 3 ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. = aisiEE :23. —-5-3- . — FHET (KiR)
N - BEAE 3 e 1(2_3)0 5-5-3-1 | 38.3 1 (igg) A-r
L:d—IWRT7Y2—b B:IYIRTRYI1—7 #Et /—Rex
R _ o TR — :23. 54— . — REDH (B
ol1l1|vvr=—E2-= 4 3 L 1(253)8 7-5-4-4 | 38.8 3 (ﬁs Z\M.%%
L:2=/xLLy b B:TSAT4T7FAN b e
S ; B 3 | AtHE 1:24.0 1-1-1-1 | 39.6| — 6 402 | BAERE (OKGR)
32 | YTRATTES 54.0 (1 1/2) Go) | (R J PN
SRFAOd-E B vAZ T L—2 EvJdLy RT77—L4
= S L AER & : 00— — 2 ARE— (KIR)
alglo | FHvIvFre 4 3 o 1.(234).5 2-2-2-3 | 39.9 4 ;1:333; *ﬁﬁéﬂ i
R:hrN=Z— BHYZ—-HYA K7y T HET7—L
— 4y i 3 | BEREE 1:25.0 4-3-4-5 |40.3| — 5 443 | BEEFD (KGR)
EH 3wz UEL 0 @ (1) | EIFER
R:A>FaAy b BiYw=>IUTZ $amES
Fo s == — o3 | B 1:25.3 8-8-8-6 |39.8| — | 7 | 466 |MEEEHE (KR)
6l7lg|72>77—3 56.0 ©) (1) | BARZER
RFFHRFFLT BTIA-LFELyY J—HrIr—L
N _ B Az : ~5-6- - HERR (B
2 Al VrIZ—KLFz i 3 Ba 1.(2{3.6 5-5-6-7 | 41.5 8 <4+437) fred |
x> iNAMA—- B:A414 27KV Fz b e ]
ISR R : -9-9- — 2IE— (KR
8l5l5|¥Txa>Ft 4 3 e 1.(257).4 9-9-9-8 | 41.3 10 (3_930) i i
L:aA>FaAy b BIU-UITE— EvilLy RTr—L
S = . i o3 | FHE 1:28.3 10-10-10-10{ 39.9 | — 2 484 | TE=E (KR)
of7| 7| AP TVT 8.0 © wo |TXME
L1 F¥ 0 ML B:ZLY Fxvy b e ]
=5 it 3 | EREE 1:28.8 2-3-7-9 | 44.0| — 9 426 |ERAE (KR)
10/ 810/ 7V~ K K3 54.0 @ G | AR
L:2=/XLLy v B:SoRAT HE77—L
® 1—F—@EBIERL
13—+— |2,(9,10),3, (4,6),1,8,5,7
2a=5"= 2,9,(3,10),(1,4,6) ,8,5,7
Ja=5= 2,9,6,(1,3),4,10,8,5,7
AT =5F= (2,6),9,1,3,8,4,5,10,7
[ N5
B 6 160/ 714K 1-6 220M e E 1-6 590 JEE 1-2-6 1,910
B B 6 140M 2-6 530M B = 1-6 350M EE 6-1-2 6,740
1 140 1-2 800M B H 6-1 980M
2 230M

ABICOVWTRDTEEERROODE. TR LIV,




